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Karan a college student has Rs 500 a week to spend He spends 1t erther on plzza

~_at Rs 50 per plzza or-on Mov1es at Rs 100 per trcket Draw Karan’ s budoet constraint.

L Fmd the rate at whrch a Pizza can be traded for a M0v1e ttcketﬁ Now draw each

. . new budget constramt he would face 1f

-A(a) he gets scholarshrp of Rs. 100 per week

- (b) the price of przza falls to Rs 25
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(© _The pnce of mowe -trcket-rrseszto_Rs."125’. . o R R 6
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Explam the effect of the followmg pohcy measures on the demand for 1llegal drugs :

- (a) Pubhc awareness campargns hrghlrghtmg the harmful effects of drug,s

- (b) Imposrtron of a tax on manufacturers of drugs e R 5.
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3. kz) In a perfectly competmve market the derrrand curve‘for commodlty X 1s‘.g1venras S
.Qd 10400 — 2P (Qd is market demand) whereas totai market supply at equ1hbr1um B |
is 10,000 units. The averace varlable cost (AVC) functionof a. ﬁrm is- AVC 2q, whree
a ~ g is the output produced by a firm. All he ﬁrms in the market are 1dent1cal and have |
a total nxed cost of Rs I 000 each Fmd - o
(@) The proﬁt earned by each firm. '_ |
’ (b) Quar'hty produced bv each frm and | - | o " FERE
(c) The numbe1 of firms in the market | : N o o 7
| (izi) Why an economist S and.an- accoohtam s hreasuremelrt of hrof' ts is hkeiy tov be
‘_dxfrerent‘?_ B ' . ' N 3
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how the two goods are related m each case : ‘
{a) . Fountainpen-and Bzril-po_xnr ‘pehv s
' (b) Fountainpen and]nk : « o o 3 5 K
" Good | Pricep.eriloitt,_ . j ;_Good':' — : Quantlty ._ |
: Before,-~ '_ Affer ?.iBefore;"» | Afltér_fr '
| ~Change - Change | ._:C-vh:'.!_nge' : Change .
hounta’inpen(b : 5 2 A ‘j‘jBall-pomtpen(X) - 10 »,-, B ) 8
' Fountainpen (Y) 5 P! ‘_‘.Ink(Z) 16 15 |




°

6O

(i)

(i)

(s ) R 6501
@wuﬁvﬁrﬁwﬁa@xmmw%oﬁmmo—zp (Qdaﬁrr{

_*‘rﬁagi,aﬁmn%)mmﬁﬁaﬁﬁgﬁmomm%uwmﬁ "

W shge wRadEee W (AVC) # WA AVC =2 ¥ 1 T g wH E
oA W O § lwﬁu‘tﬁtﬁﬁqmﬁxﬁ%ammwﬁﬁ
"'_1.WMW1OOOW%IW '

(@) m u—nﬁ * am

__"(b) e o B wm ﬁ msn @

(€ TSR ) % m'q‘ F e |

Wmﬁ@amam@mmmmwafwﬁ;

w2

ﬁma@rea@eaﬁaﬁ@mﬁ@ammmmm

) ﬁm@%aﬁammﬂma%7
""(a) w@ﬁﬁqam?ﬂav@zﬁa |

(b) ws%qﬁ‘—tamwe“r 1

uesmem [= | =

“ﬁ'a?‘w |
- wmi

Tm?‘araﬁ N

tmaé:m(v) 1s 2 —Wﬁ’f(X) BRUE K3
‘ﬂ’o’W(Y) _' 5 2 W'é(z) 10 E 15
'-4.," () A Seasnde hotel has a ﬁxed cost of Rs. 10, 000 m a month Durmg the month of S
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(i)

Can the government ensure that the burden of a -food tax 1mposed on sel]ers will- be o

“borne only by the sellers of. food 9 Explam using the concept of elasttcxty of demand :

Candsupply. .0 L -5

(iif)

Gtven the" demand -and- supply curyes of omons Qd =500 — 5P, Q =10P — 400, :
(Qg is the quantity demanded, Q is the quantlty supplied ‘and P is the prrce of ..
omon) find the equilibrium prtce and quamlty of onions. Determme the quantrty demanded
the quanttty supphed and the quantlty traded of onions as a result of a prlce ceiling -
of Rs. 50. L S A 5
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: F rom the followmg cost schedule of producmg burgers draw the supply cuive of burgers .

. and also find the producer surplus at price of Rs. 150 : -~ " - 5
Seler .~~~ M | N | Y | z |
Cost (inRs) | - 00 | 150 | %0 .| a0

()
(iii)

What are market farlures ? Explam why they cause meff' crent market outcomes 5

How do the elastlcmes of supply and demand aff‘ect the deadwelght loss of a tax ?

Explain. g o o '. ' LT - 5.'“
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Explam usmg income and substltutlon effects, ‘the effect of a rxse in interest rate on
household savmgs TR SRR 5

Why is dead welght loss mev1tab]e under monopoly ? Can it be ehmmated 1f the monopollst L
practlces prlce dlscnmmatnon ? Explam o [ 6

What Would be the shape of the mdlfference curves when

(a) Margma] Rate of Substltutlon 18 constant .

' (b) Margmal Rate of Substltutlon is zero. , ) _
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7. (i) -Does a perfectly coxhpetltlve ﬁrm s prlce necesearxly equal to the mmnnum of averag,e 1
| total cost in the short run, in-the long run, or in. both ? prlam o 7. ,
v(ii) leen the fol}owmg demand and supply equatlons | | : .': R 8 :
’ Qq =2P - 100 (where QS is quantlty supphed and Pis the prlce of the commodlty)
QD 200 P (where QD is the quantlty demanded) | B
‘(a)‘ Solve for the equlhbrlum prlce and quantlty .
(b) Suppose a tax- of Rs 15 per umt is 1mposed on buyers Calcuiate the ’ ,. | o : _i'
(1) Taxrevenue . - L “ :
Q) - Deadwelght loss. o o : ’ .
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